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A linear equation has an infinite number of solutions that form a line in the Cartesian plane.



A system of linear equations is two or more in the near equations



Solving the system algebraically
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Method of substitution





Isolate one variable from one equation.

Substitute quantity found in step one into other equation.

Solve the resulting equation.

Substitute resulting value into original equations to find other variable

Check.
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Addition/Elimination Method



Both equations standard form

Multiply one or both equations by 90 constant to 
create additive inverse coefficients for one variable

Add equations from previous steps to eliminate one 
variable

Subs to answer from previous step into one of the 
original equations to solve for the other variable

Check.
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